1
Time: 10 Minutes Paper English 4 (T-1) Total Marks: 10

1st Month, 3rd Week, Sth Day

Syllabus: Unit # 3: Pg# 23 Pre-reading + Paragraph No. 1, 2 + Application: for
leave to attend a marriage.

Q.No.1. Choose the correct options. A3)
1. Historians say chocolate has been famous for almost years.

) 100  [m| 1000 [(] 50 [@| 2000 |
2. Chocolate comes from trees in its raw form.

| (a) | grapes | (b) | banana | (c) | mango | (d) | cocoa |

3. "We have all eaten chocolate but not many of us know where it comes
from". The underlined word is:

| (a) | article | (b) | preposition | (c) | conjunction | (d) | adverb |

4. Chocolate came to Spain in:

l@| 1300s || 1200s [()| 1500 [(@)| 1400s |

Read the paragraph carefully and answer the given questions.

It's very surprising that the flower of a cocoa tree grow on the trunk of the tree,
not on its branches. These flowers grow throughout the year. When the fruit is ripe,
large reddish pods hang all over the tree. Each pod contains 20 to 40 beans.

5. How many beans does a pod contain?

@] 20t030 [M)| 30t040 [(c)| 20t040 [(@)]| 25t040 |
6. Flowers of a cocoa tree grow:

| (a) | on the trunik |(b)| on the stem | (¢) | on the leaves | (d)| on the branch |
Q.No.2.Use the following word in sentences. ?2)

Words Sentences

contain

pod

popular

symbol

Q.No.3.Write an application to the head of your institution for leave to attend
a marriage. Q)
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